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A)

SELECT ?perscn

WHEERE {7perscon a :Person
?person :bornOn ?hirthday
FILTER (7birthday > "Jan 1, 1960"*“x=sd:date)
FILTER (7birthday < "Dec 31, 1968""“xsd:date) }

B)

SELECT “actor Zdeathdate
WHERE {7actor :playedIn :Giant
OPTIONAL {7actor :diedOn 7deathdate .}}
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@ q:Question .q Answer
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rdfs:domain

I q:0ption0f rdfs:domain

Il q:questionText | M q:answerText

owl tinverseldf

| M qg:hasOption |

D)

|. g:EnabledQuestion

[ mm q:enablescandidate
owl:onProperty rdf:type
owl:allValuesFrom
| {) g:enablesCandidate all g:EnabledCuestion
rdfs:subClassOf
@ q:Answer “rdfs:suhCIassUfI @ q:Selectedinswer |
rdf:type ,--"’rpajl‘:type
& d: 5TV @ d:TVsymptom

g:answerText = Cable TV| qg:enablesCandidate’|g:answerText = What television symp...

’Hﬂﬂrﬁﬂr*’ﬁT;;;;;:;Candidate
& 0:5B0th

q:answerText = Both

E)
<owl:Class rdf:ID="laserJetPrinter":>
<pwl:intersectionOf rdf:parseType="Ccllection">
<owl:Class rdf:about="#printer"/>
<owl:Restriction>
<owl:conProperty rdf:resocurce="#printingTechnology"/>
<owl:hasValue rdf:datatype="&xsd;string">
laser jet
</owl:hasValue>
</owl:Restriction>
</owl:intersectionOf>
fowl:Class>
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<owl:Class rdtf:about="#course">
<rdfs:subClassOf>
<owl:Restriction>
<owl:onProperty rdf:resource="#isTaughtBy"/>
<owl:minCardinality
rdf:datatype="&xsd; nonNegativelnteger">
1
</owl:minCardinality>
</owl:Restriction>
</rdfs:subClass0f>
</owl:Class>




